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QUESTION 1

A networking engineer needs to configure several VLANs for S-Series switches for both Untagged and Tagged traffic. 

Which three of the following apply? (Choose three.) 

A. A Tagged interface can only be a member of a single Tagged VLAN. 

B. A Tagged interface can be a member of multiple VLANs. 

C. Hybrid ports can be assigned to both an Untagged VLAN and Tagged VLAN. 

D. When a Tagged interface is removed from a VLAN, it will always be placed in the default VLAN as a Tagged
interface. 

E. Hybrid ports can be assigned to multiple VLANs but not the default VLAN. 

F. When a Tagged interface is removed from a VLAN, it will remain Tagged only if it is Tagged in another VLAN. 

Correct Answer: BCF 

 

QUESTION 2

A customer has two locations that are six miles apart and connected by customer-owned dedicated fiber. The customer
tells the deployment engineer that the two sites need to be connected by 10 Gb. 

Which two requirements should the deployment engineer verify? (Choose two.) 

A. 62 Micron Multi-Mode Fiber 

B. Single Mode Fiber 

C. Long Wave SFP+ Transceiver 

D. 50 Micron Multi-Mode Fiber 

E. Long Wave SFP Transceiver 

F. Short Wave SFP+ transceiver 

Correct Answer: BC 

 

QUESTION 3
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Refer to the exhibit. 

Two S-Series switches have been configured as a VLT Pair. 

Which three conclusions should be made based on the output shown from the first peer switch? (Choose three.) 

A. The domain ID was administratively defined during the configuration of VLT. 

B. Spanning-tree has been disabled to ensure that no VLT loops occur. 

C. The System MAC was automatically defined. 

D. The peer link is down. 

E. The restoration of VLT ports after a system has been rebooted has been automatically configured. 

F. The command back-up destination has not been applied. 

Correct Answer: ACD 

 

QUESTION 4

In an OSPF network, a network engineer uses a loopback interface with an assigned IP Address instead of configuring
an IPv4 address as the Router I. 

What are two benefits of this choice? (Choose two.) 

A. OSPF is more reliable when a loopback interface is configured because a loopback interface is always active. 

B. The loopback interface does not require a different subnet to be configured on each switch. 
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C. Not using a loopback interface saves real IP address space that can be used in the future. 

D. The loopback interface IP address when advertised via OSPF can be used as a reliable remote management IP
address. 

Correct Answer: AD 

 

QUESTION 5

A network engineer configures a new S-Series switch. When the network engineer reloads the switch, the running
configuration is defaulted. 

What is the most likely cause of the default running configuration? 

A. The network engineer needs to upload a running config file from a USB drive. 

B. The flash memory is corrupt and the switch needs to be replaced. 

C. The switch was left in BMP mode. 

D. The switch could not find a default FTP server for a configuration file. 

Correct Answer: C 
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